Course Code: 1BBA6
Course: Business Mathematics
Credit: 3
Last Submission Date: April 30 (for January Session)
October 31, (for July session)
Max. Marks:-30

Min. Marks:-10
Note:-attempt all questions.

1. Find the points of inflexion of the function y = §x3 — gxz + 6x — 12
B y = §x3 —gxz + 6x — 12 dk uhfr ifjoru fcUn Kkr dhift,A

3
2. (a) if ;N A= i gk Ik find AA’ rFk and AA’ Kkr dift, A
2
0 O 1
)y if;nA=([2 -3 0 ] find A3 + 44% — A dk eku crkvkA
1 1 -1
1 -2 3 23
3. :;fn ifA =[ ],B = |4 5| gk rk find AB Kkr dhft, rFk fn[kkb;:
-4 2 5 2 1

fd AB = BA

4.  Solve the following linear programming problem by graphic method:-
futufyfkr j[kh; 1deu lel;k dk xkQn; fof/k I gy dhft,A
vi/kdre djk Maximize

Z =5xq1+ 7x;

tcfd such that x; + x, < 4
3x; +8x, <24
10x; + 7x, < 35
rfkk and X1,X2 =0

5. Solve the following Linear programming problem by simplex method
futufyflkr j[kh; 1Q@eu dk fhElyDI fof/k I gy dhft,i&
vi/kdre dift, Maximize

Z =4x, + 5x,

tefd suchthat 2x; + 3x, < 24
le + x2 < 16
I"Fkk and X1, X2 >0

6. (a) In What time will the simple interest on Rs.500 at 6% be equal to the intrest
on Rs 540 for 8 years at 5% ?



10.

og le; Kkr dift, fellh Bk/j.k C;kt T 500%. o= 6% dh nj 1 mruk
gh C;kt fey ftruk fd 540 %. w= 8 a¥ € 5% (;k€ dh nj b feyrk g\
(b) A what rate of simple interest will Rs.800 amount to Rs. 836 in 9 month?
fdru % Bk/kj.k C;k€ dh nj I 800%. 9 /18 # 836 :-gk Tk;x\
Find the compound interest Rs 1200@ 8% annually for two year’s if
1200 . B 8% dI¥i® dHhdfyg <ATS B <X ¥ 2 92 &1 aAhglyg ATG oA
dnfe, ;b
(i) The interest is calculated annually
;fn =St &1 3T arfife glar &1
(i) The interest is calculated Half yearly.
I AT &1 ANV g —arkd ghrk gkA
(iii) The interest is calculated quarterly.
;fn Okt dk vkx.ku =ekfld gkrk gkA
Differentiate the function y= (1+x%+x®) ( 3x+5) with respect to x.
Qyu y= (1+x*+x%) (3x+5) dk x d Ikifk vodyu dhft,A
What annual will discharge a debt Rs 4,620 due in 5 years at 5% simple interest.
5% Lkk/kkj -k C;kt dh nj 11 4,620 :-5a8 H a1 ®x @ forg fva- aifd fdLr pdkuh
IMixh\
Mr. ‘x’ borrowed 5,000 at 5% compound interest to repay in two equal instalments in
two years. Find what will be the amount of each annual instalment?
fe-, DI u 5% arf¥d pdof?n C;kt nj b <1 awi o @aE fewr 4 g& & fag 5,000
2 -SuR oy | qare g arftfe few fea-d gi\



